297207 933N

oW @ophnnt 93 DX 17°0 .4-2 Phnnnw son n o0 .1
1=d,<d, < <dj =nn1707%
di—di_q = 2% 71 2”pw

a1 —a;] = i2 07pm 0 < i < n— 1937 o8 V121 DR A, Ay, ..., Ay 770 2
D g, Ay, e, Ay NI 70 NP QAW DOD0N @, b 935 2 W K

ap=a;a, =b-v

ay = 0; a, = 1996 7712y N¥12°1 7770 NP 12V ORI N-7 DR IREND.2

1K 4. gnk
X2 7 92 797 .09W R Tn Tooni 1 < k <99 5355w N1 ,°vav 1pvon n o0 W3

.100 -9 2 12 7901 ARa Ponn

a+pm

22 NRIXXD 02w Xk = Trany—1

"DONAW TP N = 2 ,07van omvon n, a, b v 4

k5w oo weRa oo

Ay £ Z/nZ - Z/nZ 7RpND DRpY 70 no 020N 9 DX XY L5
oy f(x), f(x) +x, ..., f(x) +2019x nrepnon 9

2NY°2 PYB XIPI M OY2AV 1907 N OW PRI Mnd IR d(n)-2 7403 1 9Yav 1907 M2 .6
.d(n) < d(m) o»pnan < m 957 ox

0°°p X2 X a|b w 75 202 0°p°%n 0019012 YW (a, b) MAT HW 910 790N W0 02 WIT .K

.a < ¢ < b o»pnic anra P Toon

N2 P01 pro0a 1MAY 7 NP2 2P0 021907 NOIR DR P ONWRI 50N H32 93 IR .2

TWR DPIWRT 021907 NO1R TP P -7 MW M OYAV 190N p ONWRD 1907 207 % R .7
.09 1901 1 WRI NP — p™ aMXTA D00 TR AR PO K?

793802



